Best model for HELP_J142127.967+533854.655 atz = 1.272 )(2=1.37
OPTx?=3.92 IRx?=0.12 threshold (OPT IR)=18.17 [um]

102 3 : Stellar attenuated
E - R Stellar unattenuated
1 —— Dust emission
101 3 —— AGN emission
] = Model spectrum
0 1 ® Model fluxes
10 E M oObserved fluxes
> 11 ]
= 107" 3
S E A
= Py _pre=
< _ -
51072 5
e ]
1073 E
1074 5
< ]
07> 5
Y 1 3
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
o Or=-—-1——"—""—""—"————————— =N ——————-
o ]
) ]
2 ]
5 ]
c
& 10° 10! 102 103 104 10- il

Observed wavelength [um]



